Principles of Real Estate
Solution to Quiz 3

1.
Compute the lenders expected yield for the following monthly payment Adjustable Rate Mortgage (ARM) if the lender expects the borrower to repay the loan, without penalty, at the end of three years.  The ARM is indexed to yields on one-year US Treasury Securities with a 275 basis point margin.  The contract rate of interest is adjusted annually and has interest rate caps of 2% at the time of the adjustment and 6% over the life of the loan.  The loan has a $1,000 origination fee and two discount points (20 points).



Loan amount:

$100,000.00




Initial interest rate:

4.25%




Loan term

30 years     




Expected yield on one-year US Treasury securities





End of year 1:

5.0%





End of year 2:

6.5%

Year
Beginning 
Term
Yield
Annual Interest Rates
Monthly
Mortgage


Balance
on Treasuries
Market
Contract
Payment
Balance


1
100,000.00
30
NA
NA
4.25%
491.94
98,314.13

2
 98,314.13
29
5.00%
7.75%
6.25%
612.51
 97,073.51

3
 97,073.51
28
6.50%
9.25%
8.25%
741.57
 96,148.78
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The Future Value for month 36 is $741.57 + $96,148.78   =   $96,890.35.   The lender's expected yield is 7.28%.
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